	
[image: image1]
	
	

	


	
	

	


	
	

	


	
	

	

	
	

	

	Twice as much Red as White
	Twice as much White as Red

	For every three tins of red there are two of white


	Red : White = 6 : 8
	White: Red = 3 : 4

	Equal proportions of red and white


	For every 8 tins of whites there are 2 tins of red
	R : W  =  4 : 2

	R : W  =  3 : 2

	W : R  =  3 : 2

	2 tins of red with half a tin of white

	One tin of red with a third of a tin of white

	Mix 6 litres of Red Paint with 4 litres of White Paint
	Mix 6 gallons of White Paint with 2 gallons of Red Paint

	Mix 1 litre of red to 250 ml of white


	Mix 500 ml of red to 1.5 litres of white
	Mix 3 teaspoons of red to 12 teaspoons of white
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